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1 giaTell OMR FWE-UFF GT HGAT 1. Candidate must enter his / her
uyT gféaar #i% (10 3%l #1) . Question Booklet Serial No.
v ford | Q (10 Digits) in the OMR Answer

' \Q - Sheet. ' ’

0. Glame FETIVE @é? sl I g 2. Candidates are required to give

I 5’! @Q their answers in [hei‘ﬁ' own words
N as far as practicable.

3. Fa'ﬁ%%‘i 3 v W ed gt 3i# 3. Figures in the right hand margin
3'577%?:7 fiffee &xa gl indicate full marks.

4 gel @I FFYEs UgH @& [l 4. 15 minutes of extra time have
et @t 15 BrAe @1 sfalkes been allotted for the candidates to
o fear 7 &1 read the questions carefully.

5. 78 §v9 gRae § @Uel H §— 5. This question booklet is divided
Gqug-3H Q’a’ HUg-o/ : into two sections — Section-A

and Section-B. '
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6. GUE-F I 100 a?aﬁg gy g' 6. In Section-A, there are

Rt @ Rt s0 wot @ g
8 sfvard & (7w & R
1 3% iR &)1 q9r @ s
T & FW 7 W mom 50 I
F1 & g wEEy gRT fer
SO TE I & ITAH WY
T OMR IT-U3F 7 fd 77 g
e AR/ wrer wiT v @
g w1 fewt s gew @
BT/ WA w@rt /) =i/
AT e #T Fev-glawr F
T FAT W4T 2, amwrwﬁztrr
ﬂﬁmmy}nﬂ

7. GUS-q F 3oa§r3ﬁﬁwm§“, 7.
o @ fegt 15 wvat @r gmw
T afEd & (ew % e

. 2 3F FEiRT 2)1 w3 sfaf,
39 @ve 4 8 gy Fwie T 3
3 & fd @ et gyl a5
Fav I & (IRRF g 5 dE
freiRa &)

B-WW%‘WWWS
Ha?vgvfﬁwaﬁﬂé‘;

100 objective type questions, out
of which any 50 questions are
to be answered ( each carrying
1 mark). First 50 answers will be
evaluated by the computer in case
more than 50 questions are
answered. For answering these
darken the circle with blue /
black ball pen against  the

. correct option on OMR Answer

Sheet provided to you. Do not use

- whitener / liquid / blade / nail

etc. on OMR-sheet, otherwise
the result will be treated
invalid.

In Section-B, there are 30 short

answer  type tjuestions,- out of
which any 15 questions are to
be answered (each canying . -
2 marksj. Apart from these, there
are 8 long answer type
questions, out of which any .
4 questions are to be answered
(each carrying 5 marks). a

Use of any electronic appliances- IS
strictly prohibited.
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@Ug - A / SECTION - A
_ aﬁﬁ'@m! Objective Type Questions
mm:# zaowim%mwﬁwﬁvwé}ﬁﬁ##wwﬁ
31 fet SOW%WéfWWﬂ#W%?P%WET} OMR 32 a7

FfgTa %1

50 x1=50

Question Nos. 1'to 100 have Jour options, out of which only one is correct.

Answer any S0 @zest:ons You have to mark your selected optxon on the

 OMR-Sheet. 50 x1=50
- 1.' dcic[e )=
A) e* B) e
Q 3 i
©  3e o £
2 ‘a%c—(sin%] =
(&) cos3 PN (B) % 003325
1 X K&Q |
(C) -5 cosy &6 . (D} 2cosZ
@Q
3. ———(cos3x }@
(A) sin3x (B) - sin3x
(C) —Slsin&x (D) -3 sinSi |
4. Eci—[taan]:_
(A)  sec2x {Bj sec? 2x -
(C) 2sec? 2x (D) 2sec2x co-t 2x
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dx
(A) 6x2 (B) 3x*
(C) l'4x2 (D) x?
6. o x%) =
1 2
A = ® <
3
o 3 D 5
7. Lisinte)= -
(A)  cos®® B) 3sinZ0
(C)  3sin?0coso D)  3sinbcds2 0
8? 'adE{CDS?-CI) -
(A} -sin o (B) Siﬁ2(’1
| (C) - sin2a §Q\§ (D} 2 co§ a
9. Lotan?x)= -
dx NS
N |
{A)”  4ta (B) 4tanxsec? x
(C) | 4 sec? X (D) 2tan xsec? x
10. J-J; dx= | |
. 3
A ik 2
(A) 2\/; + (B) . E x? +k
1 3 2
€ gxtek O 22k
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11,

s

x+1
(A)  log| x+1|+k B ek
(C)  log|x|+k (D) (x+1)? +k
12, fsin20 do=
(A} k~-cos20 (B) k—-é—cosZU
(C)  k+2c0s20 D) k-2cos20
| 13. I cosSx dx =
| ' inSx
(A k- Ssin5x (B) k- 3“}5
C)  k+ Si“SSx. (D)  k+5sinSx
14. I tan3.:xdx =
(A) k+%log| sec3x| (B)  k+3log| sec3x]|
| | S | |
- {C) k—-3log| se&%&%‘? (D) k+ log| sec x| ’
- & B l
2 \Q‘b' B
15. I x_2 dx= QQ )
) $ o
A 0 (B) 1
8
© 2 D) 3
n/4
16. [ sinxdx=
0
A = B 1+
@ 7 5
1 o Lo
C) 1 75 (D) /3
77-017 Page 5 of 32

[121/327] A

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

17. j‘ e* dx =
0

&)  e-1 | ® 17C
Q) l+e D e
1
18 Idx::
_O .
A 1 R
© 2z . @ -2
2 S
- 19, dex=
(A) O | - B 1
w© 2 | o 4
s U |
20. | oy dx=
' (A] 10g|,x2+x+1|+k =) - log| x+1|+k
. 2 |
(S x—z—x+k ‘*\\QQ D) Z-+x+k
| §® 2 |
2r §§%
21. sinx
o -
A 0 - | B 1
- 2 o D) 4
s | |
22, I tanxdx=
' -n/3
(A) 0O | '_ B 1
< 2 D) ﬁ
.’ ’ . 2
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. eX —e™*
dx=
23. fex+ e X
(A) tan™! (e* +e™* 1+ k (B) - logl e*+e | +k
(C) log | e* —e™¥ | +k (D.] x+k
' Ix2(1——1—] dx= |
24. )
x .
3 3
A otk B) H=x+k
3;73 - X, rk
(C)  F-2x+k (D)  F+2x+
1 -
- 285. GIJ; dx =
ﬂ l . . -
A 6 B) 4
) 2 (D) 0
26 [ 22— = =
1-4x
N -
(A)  sinldx+k (B)  sin” 3x+k
| ‘§) . . s | k
© sinl2 ) sin”lxt
RN -
' dx
27. 3 =
J‘1+'§3262 , _
A)  Oten-tx+k (B) tan™ (9x)+k
-1
© tan(3x)+k D) tanx+k.
1 —
28, dx =
ICDSQX : )
-(A} sinx+k (B)  cosx+k
Q) canx+k ' (D) sec;c+k
77-017 . Page 7 of 32
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20, 4]':1;:

(A) 4tk
(C) 4x+k '
‘ 30. | H“;('zx]s
w2
{C_}' v"2x lo_gg |

31. . THA GHERTY xdx+ydy=o I EA &

(A) x;=y+c

()] xX+y=c¢

.- The solution of the differential equation

B)

(D)

. (B

(D)

B -

(D)

21k

log2

" xlog?2

_x2 +.y2 =C

x* y?=c

x_dx+ydy=f) is

A)  x-y+e B) x2+y=c
©)  x+y=e & (D)  x?% y?=¢
32, [gx_ . &P
2 _ Q
| X< -4 N
Nk
S |
(&) cos !Xk B) L og |X=2
2 B Flgl 5| +k
1 X+ 2 '
(C) 3 log 5 '+k. (D) tan_]52—+k
. dx |
33. =
Ix2+9
_1_3‘5_. :
(A) tan ">+ k {B) Etan'lxﬁ-k
1 -1 X -
C —_ =
(€}  Ftan” T +k D) tan x4k
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40, A @ =27 +2] -5k M b=21+
A VAT B 3T
€ J29 | o) V15

-—)

Co- . - - . .
If z=2?+2}_5}? and };=25 + j+3k then the value of

- -

I_a+b|1's

A V&7 B) V37
(C) V29 o) V15

41, Wi 2?-3}’ =l feem = gerg wiew €

+ j 20 =3j
(A = B) \(\
J13 =) J13
27 +37 7-7
© ==L o =L
T @ o TE
g\\
, L : - -
The unit vccto&@b the direction of the vector 2i -3 j is
' _z"+_;Q | 27 -37
(A) . (B 21 =9 J
J13 , s V13
- - . : 3 =
2i +3§ : i — i
€ = D J
v13 ( }_ V13

42, IGFE GHHIO %J,y:gwaﬂ%"g?r% :

A y=ae B ym2eaer
{C) Y= Ae?* 1k | (D) m@ Hﬁ%:{ﬁh o
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The general solution of the diffe;éntial equation E"~+y=2 is

dx
(A)  y=Ae™x (B) y=2+Ae™*
(C) y=Ae™ 1k, (D) ~ none of these
43, Wﬂ‘:ﬁw L -3y- cosxwmww%
[A} B_'Sx (B} 8—2.’:
© - e T 9 s Tl
The ir_l'tegrating' factdr of th¢ differential equation 3—3; 3y =co's X1s
{A) 8—3.7( . {B] -. E—Q)C .
(C) e * (D) - none of these
. > -
44, 71 x 2k =
(A) 14 B) 0
. - ' . (&\@ b 14—')-
) =14 5%% D)y J
45, ﬁgﬁﬂﬁ@x-@%:; ?%T?ﬁ"f% -
o - 7.
] R ,
. 7 . s A _
© 77 | R
The distance of the plane 3x — 2yﬂ-42_="? from the origin is
o 7
_7_ B =
A = S TR
7 B R
© 75 | At
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4.6' . el X-y+z=17 T 2x+ 4y+ 3z=3 F o9 & HIT- &

Wt e ol
-I(.C'} 00-5_1[%J o -(DJ | | 3:'1.:»[ N aﬁgqﬁ
The angle between the plan-?é x-y+z=17Y ar;d Zx + 4y+._32:_=3 is
@ o) @ ()

| (C]' | costl[i_ﬁ.s_]l | | -{D-} | none of.th-else

a7 _3;_2,3%5343%@%@13%%@3%@%

a) 3 -2 .8 B 3 -2 8
V71 J?_l J71 V737 737 J73
() Neii J?_%z,@% ) D) TH A B @
Thf; direct@%osines of a line having directior; ratios 3, -2, 8 are
' 3 -2 '
(A =2 3 -2 8
“ . V7T 710 J71 B) J73° 73’ J73
. 37 2 g |
(C) 77 T ' (D) none pf thése
S T  —> > -—>'
48, (5i- j+2k).(2i+2j-4k)= -
@ o ® 4
© 6 : D) -3
121/327 | A | § ' ' -
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49. | xe®* dx =

| oo 3x ax
(A} (Bx-1) -4k B)  (5x-1)&s—+k
3x A 3
© x-Sk (S L

T AT -
50. (3i-2j+5k).(21-27-2K)=

@ o B 11
oo -2 D 20
51. o et Y@ &t kg weant =L 3 ko s
| R I Ty AT ATE
L .
A — 2
(A) Fia (B) 7=
3 4
(C) Jis (D) ey
If the direction cosines of a line. are -51_14, X, J?Z then the value of-
x1is gﬁ\@
_1 » 2
(A) _ 14 Q\Q‘z" (B) 14
3 @$ (D) 3
© = Y 1a |
- = = . - . -» - 2 >
52, (3i+j-2k).(-i+3j+4k)x(4i-2j-6k]=
(a) O | (B) .1
(C) 2 : (D) 3
53. T 7x+8y-9z =7 W Ao & foF ar-gcrm%
(a) 7,8, 9 - |) 7,8,-9
c -7, 89 . {O -7,-8,-9
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plane 7x+8y~92 =7 are

Thf_: direction ratios of the normal to the
® 7,809 ® 787
© -7,89 o 77877

54, Prfettiad # @ w9, y- oaﬁ%ﬁmﬂ“\r% ?
(A y=-2 ® *=3
© x=0 | o ==
Which of the fq.]lowmg pl’anes. is paraliel to the plane y=07
(a) y=—ﬁ2 R B  x=3
(€) x=0 - (D) =z=3

55. T 2x+ Ty-9z=4 %Wwaﬁfﬁrﬂﬂﬁ'ﬂﬂm%
(A) '?I—y—z:ﬁ}- (B)  7x+y+3z=4
{C] 2x+7y—-9z+4=0 [f)) ﬁﬁﬁﬁqﬁ

Equation of a plane p@.ﬂel t the plane 2x+ '?y 92; 4 is

(A) ?x-y—z" 6 : (B) 7x+ y+32 4
§9z+ 4=0 (D)  none of thcse
C)  2x+7 = |
Q ' S

56. A x-Sy-11lz+15=0T T TF T T THIHT &

(A) X+y+z=3 B)  x+2y+z=2

(C) 3x-y+z+15=0 L (D) ﬁﬁﬁaﬁ%qﬁ
Equation of a pla.ﬁ_e perpendicular to the plane X=35Yy—-11z+15=0 1s
(A) xX+y+z=3,6 {B-}. -x+;‘2y“+z=2
(C) 3x-y+z+15=0 N (D) none of these
[121/327 A -~ [77°017 | - T page 140f ¥
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1 1 2
57. 3 2 5|=
17 -5 12
A0 | B) 1
e -2 - D) 115
- 1 3 2 |
58. |4 8 8|=
- |9 17 18
© 4 (D) 125
- 1 -1
59. 2[7 8]=
e, o .
& |7 ﬁ] . [14 =]
- - S [ 2 L2
© |4 lé] (D) [14,16]
60. 3|4 d}= )
| 3a 3b
SN 3| Q ® | dI
3a 3b %SK\Q : 3a 3b|
€ L3¢ d Q‘&‘ ¢ . (D) 3¢ 3d
| 2 57 [ %)
ol. [8.10] [40 = ,
| - 20 [ 28]
(A) [330 400] L ®) | 720
| [ 208 ]
© [208 432] (D) | a32]
4 -6 10
62. (6 0 4|=
1 5 -7|" |
A 24 (B) 48
c) -24 (D) -956
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5 4
w373 o 53]

5 3 | P IS A
© [33] o) FHAEE
HX=[ ]thenadjomt}{‘ B o

| _ | 5 4
(A) [_g ‘g] (B) [z 3] |
(C) [—3 3] -{ﬁ] “" none of these
64. qﬁ x= asme y=acosd F{\T W%
(A) * tan® " (B) -ftan0 B
(C) coté (D) —cot® | .
If x=asin®; yﬁﬁ-cose then %—% ié_equal- to -
(A} tane. S\\ . "(B) -tan®
N (& cot 0 Q.Q‘Zr : _ (D) -cot®
65. AR x= za&; tQFﬁ gz TR &
@t ® 1 |
© ¢ D) TEHAWE
If x=2at, y=at? theﬁ —3—2 is eqﬁa.l'to -
W ® 1
(€) 2 (D) ~ none of these :
[121/327 ] A 77-017 (32
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2

66. > (2x2+5x47)=
dx :
(A 2 o B) 4
€)  4x+5 | N (D) 4x -
67. Td% [Sin_l{c,bsx].] =
.(A]' _COSX | B — COS X
= B 5
c -1 D T
..H.__ | - (D) 2%
68. fictiEd o B wel wo 2
(Ai Z=3x+2y _ . [B] - x20
© y=20 (D) T F IS T
Which of the following is an objective functiont ?
(&) z=3x+2y B x20
(C) yz0 (D} none of these
& | i
- 69. HAUHl x+ys4, )@éﬁ),y;o & AT Z=5x+6y H FITHAAE -
| O L _ :
NN | - -
A) O Q . (B) 5
(A) N | B 5
(C} 20 | (D) 24 -
The minimum - value of Z=5x+6y subject to constraints
x+ys4, x20,y20 is
@) 0 - .- B 5
© 20 (D) . 24 o
70.  SHERMT x+y<50, x20, y20 & AT Z= 4x+y F UHaAH A ¥ |
@ o - B 200
© 50 (D) THIABE T
[ 121/32'7 ]'A 77-017 _ C - Page 17.0f32 -
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71.

T2,

73.

74.

The maximum
| Xx+y<50, x20, y=0 is

@ 0
{C] 50
A=[? é]’::-Az
0 1
w9 3]
1 O
(©) [0 0]
-1 2x
e
(A) 2sin~! x
(@)  2tanlx

4
ay If
© 2 &

4 T &7

subject  to

of Z=4x+Y
(B) 200
(D)  none of thesc
00
(B) 0 0]
- [1 1
@ |1 1]
(B) 2cos lx
(D) -~ 2cot™lx
i
B
D) =

@) o TR SR wHiatg e

- ®) oﬁ?ﬁ%ﬁﬁaﬁquﬁ%
© o T § R i &

D) TH ¥ FI3 7§

[121/327 ] A
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75.

Which of the lollowing is true in a binary operation 'o' defined on N by

, aobhma” 4 h? P

(A) "0 is both associative and commutative
(B)  'o'is commutative but not associative
(C) - '0'is associative but not commutative

(D) None of th;ac _

TR A={1,2} 7 F e fuw devt &1 aRonfa frg < w5 € 2

@ 1 , B 8 -

4 | D) QA FE T

How many distinct relations can be defined on the sef A={1,2}2?

(A) 16 B 8

C) 4 | (D)  noneof these

1/2 |
O =

0 l=-x

A 2 R B) 2+v2

( g\@@ &

) 2-42 NS - (D)  3++2

W | |

77. AR @l x;%%@:'ﬁ,;ﬁ A ax+by+cz+d=0 F AR & dl

(A) . 3a+4b+6c=0 . (B) 4a+5b+7c=0

(C) 4a+5b+6c=0 (D) FH ¥ & Tl

. -3 yYy-4_2z-6 .
If the line X—== = is parallel to the plane
7 5 7

ax+by+cz+d=0 then

(A) 3a+4b+6c=0 (B} 4a+5b+7c=0

(C) 4a+5b+6c=0 (D) none of fhcsc
[121/327 ] A 77-017 R Page 19 of 32
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78,

79.

80,

81,

82.

-5 y-6_2-2 wrarﬁﬁ’rkzﬁrnmﬁv
af Y XuleZ x4 u_g,*_ﬁ - &

2°3° 5
@A) 4 ' -(B) 8
© 10 D) T ¥ FE
. x=5_Y=6_z-2 ,
If the line -2’5=%=-§— is parallel to the 1_1ne: x4 === % ltth

the value of kis

Ay 4 - B 8 |
(C) . 10 | | (D) none of these

- =5 9 = e e .
(83i-4k).(i+ j)x(4i+ j—4k)=

Ay 15 B 18
(C) 224 : o o0
tan"lé+ta.n"1%=
' -1 1 | . 13
(A) tan 15 . Q (B) .tan 17
12 s\\g 1.6
(C) tan 35 ‘&\% (D) tan 17
N
2tan"_lé- = @$
&) tan?':Z ! B) tan”'-
a1 | I
© tan”'gs ()  tan'd2
¢ g A FR BT @ a P(a/B)=
(3)  P(A), P(B)=0 B P(B), P(A)x0

(C)  P(A)+ P(B) (D) - it{g}},P(B#o

[121/327 ] A 77-017
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If two events A and B are independent then P(A/B)=

(A} P(A), P(B)=0"

(©) Hm+Pm;'

(B)

(D)

83. AR P(B)=3,P(a)=0 T p(5)a)-

(A) 0

(© 3afenfyg

®

(D)

If P(Bl=%,P{A}%O then P(B/A)=

A) 0

(C)  nat defined

R\

(€)

s [3R Y- <

_ S
w4 ‘3@?‘2’ |
s -—%Q]

9 2

(B)

(D)

(B)

(D)

P(B), P(A)#0

B 1

none of these

13 0

0 2

1 0
0 1

]
|

85. 1 TF gemel A 3 B % fU IR P'[A]=%_, F[AUB)=%' qen

P(B)=x ar xEﬁTq—F{%

W 15 ® 5
Q {5 (D) 9 ¥ W3 Tl
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] _1 -2
For two independent events A and B, if P(A)=3, P(AUB)=7Z and

P{B}=x then the value of xis

3
(A} %ﬁ- ® 15
() 1_76 (D) none of these
2 316 7]._
86- {1‘ 1”1 2]'
5 201 : 18 20
(4) [17‘"’ Zéjj ®B) [22 3?]
1 44 8 21
) [.:136 19] ) [2 3]
g87. [7 3x-5]=[y-1 -2x] =
{A) x=-1l,y=7 (B) x=1,y=38
Cy x=-3,y=7 (D) x=4,y=7

8%, Tz UF T AgE A 39 UFH & B 5A%+6A%2+7A+1=0 A A”! IR

e

(8)  SAZ+6A+7I \\@ (B) -5A%2-6A-71I
N v s e
(C) SAZ+6A-7L° (D) FH 9§ ST &I
N
If 2 [ 3 2 _ -1 .
a square A.s such that SA+6A“+7A+1=0 then A~} is
equal to '
(A)  S5A%+6A+7I (B) -54A%2-6A-7I
(C} 5A%2+6A-7I (D)  none of these
1
89. fx(l—x}modx=
O
. _

(A) e B 1

100x101 B o 102

1

©C) e D) —3

99x 100 (D) 100x 101

121/327 1 A - :
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. 90.' 'qﬁ' xz-%- T‘ﬁ 005(2603"1 x+23in"'x} F1 HH ’?,'
a | 3
© -1 o) T A wE ]
1 x=% th‘?n'tht; value of cos(2cos™ x+2sin”! x) is
<. -1 (D) none of these
1 1 1
9. [1 1] [—1 g] =
@ |11 ® [
© 88 o [$9
92. R W A 3R B TW VAR & fF P(A/B)> P(4) T
(A)  P(B/A)< p(z-:s%s@Q (B) P(ANB)< P(A).P(B)
. ' %) y
© P(B/A):'Q\@%J (D)  P(B/A)=P(B)
If Aand B ar%&cnts such that P[A‘/B}:- P(A) then
(A) P(B/A)<P(B) (B)  P(ANB)<P(A).P(B)
©  P(B/A)> P(B) (D)  P(B/A)=P(B)
93. sin‘l%+sin'1%=
148
(A) sin“l%g (B) sin ’6—5_ |
©) - sin” 22 o Z
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n/2

'94: I {'x3+xcosx'+tan5x+1}dx EE[’TFT%
-n/2 _ S
) o | o | (B) 2
€ = | o (D) _
R[22 . |
Thevalueof I [x3+xcosx+tan5x+1]dx is
; —n/2 o -
@4y 0 (B). 2
e (O x B () I . -
" 95, ww fawh W 10 WK IoTen S &1 3 Wt fact S Y A §
| ' 10 | 7
e R I
3 | . .
(<) mc?(-%) R (D) . T IR T
A coin is tossed 10 times. The probabnhty of gettmg exactly seven
heads is _
10 7
@ 10c, (4] B °c(3)
. \QQ |
o (1 |
C, g\ S _ (D) none of these
96. y-3 & ﬁi% aﬁmafr il ?ﬁTT T
@A 1 | B 2
© 3 D 4
The sum of direction cosines of the y-axis is
A 1 . B 2
© 3 D) 4
97. ddx-y+z=68 x, y ﬁ?ﬂz—mq'{ﬂémsﬁ@gw )
4 1,-1,1 . B) 6,6,6
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The intercepts cut off by the plane x — y + z = 6 on the x-, y- and
Z-axes respectively are
A4y 1,-1,1 B) 6,6,6
() 6.-6.6 D) 6.6,-6
98. A8l x+y <3, x20, y>0 & Jqia Z =5x—6y B <FIaHd HIH F
@ 0 : B 15
€ -18 (D) -3
The minimum value of 2 =3x—-6y subject to constraints
x+y <3, x20, y>0 is
w o B 15
< -18 - D -3

99. 9% (1,2,3)H a0 x+y+2-3=0 A&

3
@ = B 3
- 3 ®) o
The distance of the pl x+y+z—-3=0 from th mt(1,2,3)is
| éﬂ\{@ m the point ( }is
3 3
@ = Q\&% ® 3
N\
) 3 $ | D) 6

100. 3FEHeT THIFLI e~ dy+e ¥ dx =0, I & €
(A) e'tY =k B) e +e Y=k’
(C) ef+e¥=k D} =x+y=k

. The solution of the differential equation e “dy+e ¥ dx =0 is

(A) XtV —f- (B) e *+e Y=k
(€  e*te¥=k - D) x+y=k
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. WUE - ¥ ) SECTION - B

wyq I o / Short Answer Type Questions

mmﬂi‘aoaaa'agaaﬁag;ﬁﬁ#ﬁ?? zswﬂ?&"?ﬂ??‘m
'%W%wmﬁw

Question Nos. 1 to' 30 are Short Answer. Type Answsr any 15 questions. Each

quésnon carries 2. ma,rks

frgat (-1,3,2) R (2, 3, 5)ﬁmmmﬁﬁaw

1.

‘ﬂﬁa»'h

(-1,3,2)and (2;3,5).

15§x2=30

15 x2= 30_

2

‘Find the dlrectmn cosmes of the line passing through the two points

2. TR B : dx 2
) 1+ cosx
e dx
Int P —
nlegrate 1+ cosx ° |
3 W‘m"ﬁ:[aﬁ Icost—cosQa ds.
COS X —COS U
:Integrate: I oS 2‘1:‘(3@52“ dx.
: co@—cosa :
‘Zr
-4, Fﬁ@ﬁ#% at 3+cosec 1J_]- 2
Prove that 4{cot_13'+coséc_1\/§]=n. _ .
5. Efﬁx'A[ ]HQTB[_E]H:TABSﬁT.BAWﬁl." 5
11 2
IfA---1 1 andB 3 4 thent'mdABandBA
: l'a a2 : : )
6. URO |1 » b?| & HA AW F
1 ¢ 2 : :
[121/327]A - [77-017
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=

| ' l a a
Evaluate the determinant [1 b 52
1 ¢ 2
" aﬁ.y:”g*.“ax“ﬁ%aﬁaﬁr 2
If y=m “_then find E.y_
dx "
8. i y=sin? (2x+3).cos? (3x+4]?ﬁ mﬁa»“{l 2
_ .92 ' - L
Ify—sm [zx'+3-)-0082(3x+4) then ﬁnd d_y
9._ uﬁ\' xX= logt + sint, Y= e +cost Fﬁ Wﬁﬁl 2
If x=logt + sint, y=e-t+cosf. then find %
10. 3R y=x/*4q _j_y T FL 2
If y=x'/% then find f—é.
\Q_ 2 . _
11. QHEAT & I 3@ 1) 5 dx. 2
2x3+x_
N
Integrat ﬁ§ L
nieegraile : .
: & xt22x% + x? -
asm3x+5cbs3x
12, |EEEH w0 | 5— dx.
Sll‘l JCCOS X
It t 'Iasin3x+bc033xd
' are :
Triegr sin? x.cos? x
13, GHEET j'xsinx2 dx. 2
Integrate : j.xsin.:c2 dx . ,
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#

n/6

14, I cos x.cos2x dx &l HF ATd &
0
n/6
Evaluate Icosx.cosﬂx dx.
0
: n/2 .
15, j Jeosx 4. o1 W T HR
0 vsinx ++Jcos x
mj2 _
Evaluate ' cosx dx.
I Jsmx+Jcosx ,
16, xﬁmqﬁr%%mr Flx) =3%2 —2x+9 BEAF ®ETE 7
For what values of x, f(x)=3x2-2x+9 is a-decreasmg_mnction ?
17. TAHL (xg—yxzjdy +{y? +xy? ;dx=0.-
Solve : (x? — yx? ]dy+&y +xy? jdx=0.
o S\\
18, Eﬁﬁ —-+n x. ¢
‘ dx N
QQ
Solve : y+ny=xm,
dx X
19. © & Y@t fie foep v 2, 2l -2 326
~ 3’ 3’3 m;;;,;%,%ﬁﬁ[ﬂm
RIGE:TE
Find .
ind the angle between two' lines whose direction ratios are
2 -1-2 43268
3’3’3 A AR
[ 121/327]A - _ —
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20. i Y@ X*1_Y-3/2 _z-6 s x-4_Y+3_2-5 qug @@ &
: p 3 4 3 -2 .0
?ﬁp‘*ﬁ.mmaﬁr . - 2
- g 3 _ z-5
e _hnes. > 3 'y and 3 — 5
pcrpendicular to each other then find the value of p.
21 Eli[iii 2‘—3_1 +5k?ﬁ’-’lT 81—9J +11k3ﬂmwwaﬁ'l 2
Find the vector product of two vectors' 21 -3 J +5 k and
81 -9 _; +11k
22. _@fﬂﬁﬁemmm%|aﬁ4aﬂsﬁéaﬁaﬁmﬁnﬁraﬁ
oy | § R 2
A coin is tossed 6 times. Find the probab1l1ty that exactly 4 heads
-appear :
23. P Yas vumm e e e
Bqaﬂ?ﬂ’r 4x+5y<20. g\@
xzﬂ a'T 33[?17‘?[ o
Z= 11x+12y@Taqﬁmannmmﬁ[ : - - o
Solve the following linear programming problem :
Maximize Z=11x+12y
subject to the constraints 4x+5y<20
- xz0, y20.
Y 16cmﬁwaﬁ%$@mé§uﬁaﬁhﬁawm &
| s ﬁmﬁil B - .- g 2
Find the rate of changc of the area of a circle w1th radius r = 16 cm
with respect to its radius r. _
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_ . - 3 - = - g?_'__-'_'.,g;:]_ 2

25, HAWQHL: (7i- j-k).(2i+2] +3k)x!( J
Evaluate : {7?—}}—3) {21+2_j’ +3k}"{91+ J “'2“

26. WeM f: R»R R flx)=1x x<R ﬁm*mﬁﬁl | 2
Examine the function f: R— R where f{x):—%x,xER for one-one
mapping ?

27. 4% @ =wemelt A R B ¥ W P(4)=0-8, P(B)=0-5 TW
P(B/A)=0-4 B & P(A/B) T HI | . 2
If for two events A and B, P(A)=0o8, P(B)=0-5 and P(B/A)=0-4
then find P(A/B).

28.. S UG U WY Shehl ST ¢ | I T ANTHS 8 A 9 A I wfwen
T B \\Q‘Q 2
Two dice are @own simultaneously. Find the probability of getting a
SIII.III.BOI‘%,Q

' 2 2 ; ' T I

29,  HF I HL : j'ﬂ"‘i"i}-dx. S

L ~ _ 2
2 2
Evaluate : I {log x)” dx.
x

30. BT BY y({1+xy) dx-xdy=0. | ' 5

Solve : y(1+xy)d.x -xdy=0.
121/327 1 A -
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e Iedtg wew / Long Amw:ar Type Questionl
mwalﬁaaﬁdwﬁumilﬁﬁ#ﬁﬁﬁ4mﬁ$mil o0
& 9T 5 o Preifm - | 4x6 =20

Question Nos, 31 to 38 are Long Answer Type questions. Answer any
4 questions. Each question carries 5 marks. © ' 4x5=20

1 a a?-bc

31, M@ |1 b p2-ca|=0. ‘ _ 5“
1 . . : .

l a az—bc
Provethat |1 b b%-ca|=0 .

c ¢2—ab

32. A cos™! x+cos~ly+coslz=n A FAE B H x2+y? 422 +2xyz=1.

If cos™! x+cos™? g\@,@z n then prove that x> +y +22 +2xyz 1
6

| SS.I'EI%x y -(x@*"ﬁdymﬂﬁ'l_ 5
i r @ : - .
m._.n m+n dy
If x"y" =(x-y)" then find I

34, YAl # : Z=5x+Ty
Fﬁ% x+y<4

3x+8y < 24

10x+7y €35

x20,y20. | 5
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) Maximize Z=3x+7y
sﬁbjcct to x+y<4
3x+8y < 24
10x+7y <35
x20, yzf}-.

N

' 35. BAW: (x+3y+2) dl=1.
Solve : (x+3y+2} d_y=

S o
. 36. ﬂ’ri“@m’r r-{1+21+8k]+?.,{1—3_;+’3’hjw

7= {4:‘ +‘__::5_j_ +6--i_c]+ n( 21‘"‘+‘"3'j_+ k) ¥ 99w AT T w0
" Find the shortest distance between the twolines

e T - >

" 3 - -3
r=(i+2j +3k)+A({i-3j + 2k) and

-

' > - - -5 o -
L r=(4i+5j+6 k)+p(2i+3j+ k)

. ® N “~ . on

37. 3T UTEl H HEA H G x D[ I GET B A® B Al x I TERN T
mi‘t

&
\ In a throw of two dice, if x dcnotcs the number of sixes then find the

(5]}

N

-

- expectatmn of x.

~
38, m:rsﬂaaﬁ ﬂl-g— dx 5
1+cos X -
T . ’
Evaluate : I -Lm;— dx .
) 0 _I+c:0_s X
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